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QUESTION 1

( ) signaling is used for master/slave determination. 

A. GRQ,GCF 

B. DRQ, DCF 

C. TCSR,TCSA 

D. MSDR, MSDA 

Correct Answer: D 

 

QUESTION 2

Dynamic Dual Streams,supports concurrent transmission of ( ) independent images. 

A. 2 

B. 3 

C. 4 

D. 5 

Correct Answer: A 

 

QUESTION 3

In any view mode, a site can view the video of any other sites. ( ) 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 4

Bandwidth restriction on specified network segments will result in terminals\\' GK registration failures.( ) 

A. TRUE 

B. FALSE 

Correct Answer: A 
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QUESTION 5

Which message is used for Endpoint registration.( ) 

A. RCF 

B. ACF 

C. LCF 

D. INAK 

Correct Answer: A 

 

QUESTION 6

ARQ is Similar to the TCP retransmission mechanism, when the network detects UDP packet loss in video stream, it
requires the peer to resend UDP stream. The receiver uses a buffer to store code stream, and starts decoding after
receiving the retransmitted UDP stream. ( ) 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 7

Different from traditional video conferences, ad hoc conferences can be created and joined from video terminals, without
the assistance from administrators.( ) 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 8

The advantages and disdvantages of Forward error correction (FEC) are( ). (Select 2 answers) 

A. it has high requirements for latency, which makes it difficult to use in live networks, it is effective only in slight packet
loss. In addition, it results in more video jitter 

B. it occupies little bandwidth and slightly impacts the video quality 

C. The video quality is affected because the redundant data occupies some bandwidth. In addition, it cannot handle
burst packet loss, and a certain delay is introduced 

D. it can restore the lost data with a certain probability and it is applicable to common packet loss scenarios 
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Correct Answer: CD 

 

QUESTION 9

ARQ carries information about the MCU including the IP address and port number and number about the endpoint to be
called.( ) 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 10

RTCP is Real-Time Transport Protocol: RTCP does not address resource reservation and does not guarantee quality-
of- service for real-time services. The data transport is augmented by a control protocol (RTCP) not allow monitoring of
the data delivery in a manner scalable to large multicast networks, and to provide minimal control and identification
functionality. ( ) 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 11

Firewall is a kind of protection to prevent network attack, and protect the legal communication between two networks. (
) 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 12

Dynamic NAT allows the mapping of multiple internal IP addresses to one public IP address a the mapping of multiple
internal IP addresses to multiple public IP addresses.( ) 

A. TRUE 

B. FALSE 

Correct Answer: A 
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QUESTION 13

In video firewall mode, the GEO ports of all the boards must be in the same network segment, and all the GE1 ports of
all the boards must be in another same network segment.( ) 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 14

One conference allows for up to ( ) groups of continuous presence. 

A. 1 

B. 12 

C. 24 

D. 96 

Correct Answer: C 

 

QUESTION 15

In video firewall mode, the ( ) must register with a GK. 

A. GE1 port 

B. GE1 or GEO port 

C. FE port 

D. GEO port 

Correct Answer: D 
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